wind pollination

self-pollination

insect pellination
2. Choose the correct answer-.
o In the photosynthesis:
o The plant abserbs: , and

o The plant expels :
* In the respiration:

o The plant absorbs: and

o The plant expels :

2. Are these sentences true or false?

|. Photoshyntesis takes place in the animal respiration.
2.During photeshyntesis plants abserbs carbon dioxide and release oxygen.
3.In respiration plants use their lungs.
4.Plant repreduction can be sexual or asexual.
S.Sexual reproduction takes place in nen—flowering plants.
b.Asexual reproduction takes place in non—flowering plants.
7.Insect pollination is a type of plant respiration.
8.During respiration plants absorbs carben diexide and release oxygen
4. Water and minerals are absorbed from the leaves during the photesynthesis.
10. Plants make their own food.



